
G
ER

M
A

N
FR

EN
C

H
ITA

LIA
N

SPA
N

ISH
EN

G
LISH

EN
G

LISH

・ �Be sure to thoroughly read this installation manual and the owner's manual which is included with the speaker 
before carrying out installation and connecting the wires.

・ �If installation methods or non-standard parts not specified in this installation manual are used, accidents or injury 
may result.

・ �Specialized techniques and expertise are required in order to install the speaker that this product is installed to. 
Be sure to ask a qualified technician to carry out installation work.

・ �Installation of the speaker should always be carried out by two or more people.

Be sure to keep this manual after the installation for later reference.

Tools used	 2

For your safety in using this product	 3
Accessories	 2

Installation	 4

Installation Manual: 090003-2883E700

CEILING BRACKET

After all installation and connection work has been completed, please give this installation manual to the customer.
The installation screws used for installing the bracket and wires to the ceiling are not provided as accessories with 
this product. (Bracket installation hole diameter: 7 mm)

To the installing technician:

Cautions on use	 3

Installation Manual

ContentsContents



− 2 −

G
ER

M
A

N
FR

EN
C

H
ITA

LIA
N

SPA
N

ISH
EN

G
LISH

G
ER

M
A

N

Tools used	Tools used	 Have the following tools ready before commencing installation work.

Check that all of the following accessories are present before installation.
Ceiling installation screws are not included.AccessoriesAccessories

CB1 components

Spacer
X1

1 Bracket
X1

2 Safety cable
X1

3

Screw (pan M5x8)
X4

4

ねじ（M4×8）原寸 ねじ（M4×8）原寸

Screw (TD510/TD510 MK2 for wires)
(pan M4x8)	  	        X1

5

ねじ（M4×8）原寸

Screw (TD508 II for wires)
(pan M5x8)	       X1

6

・ �Hexagonal wrench (small) 
(Supplied with speaker)

・ �Hexagonal wrench (large)  
(Supplied with speaker)

・ � �Awl 
(or drill)

・ Screwdriver 
(Plus tip)

・ Scissors ・ �Tape 
(Paper tape or 
similar)

・ �Screw 
(For installing bracket to 
ceiling)             X3 or more

・ �Screw 
(For securing drop-
prevention wire to 
ceiling)                    X1

Screws (TD508 MK3 for wires)
(pan M5x12)	        X1

7 Washers (TD508 MK3 for wires)
	        	 	 X1

8



− 3 −

G
ER

M
A

N
FR

EN
C

H
ITA

LIA
N

SPA
N

ISH
EN

G
LISH

EN
G

LISHThe following WARNING and CAUTION signs are used throughout this manual as well as on the product. These signs 
alert the installer and users of important safety information to avoid risk of injury and damages to the product. Please 
become familiar with these symbols and their associated information before proceeding to the assembly instructions of 
this manual.

This "Warning" sign indicates a situation in which incorrect handling may result in death or 
serious personal injury.

This "Caution" sign indicates a situation in which incorrect handling may result in personal 
injury or may result solely in damage to property.

･ �This product is a speaker hanging bracket which is 
designed exclusively for the TD508MK3/TD510MK2 and for 
the TD508 II/TD510 (discontinued models). Do not use it for 
any other applications, otherwise insecure installation could 
cause it to fall down and injury may result.

･ �Do not drop or drag this unit while assembling or carrying it. 
Pushing over or dragging the product can result in an injury 
or cause damage to the floor.

･ �If installing this unit high up off the floor, be sure to secure it adequately in place. If it is not secured adequately, it may fall down 
and cause injury.

･ �Check the structure of installation location to make sure that the materials used are strong enough to bear the combined weight 
of the speaker and ceiling bracket. If the installation location is not strong enough, the speaker may fall down due to vibration, 
and serious injury could result.

･ �Accessory parts including wires are provided as a safety measure to prevent the speaker from falling down once it has been 
installed. Be sure to attach these wires to ensure safety. If this is not done, the screws may become loosened due to vibration, 
and the speaker may fall down and serious injury could result.

･ �This product is a ceiling suspension bracket for speakers. Do not use it for other purposes.
･ �The speaker is heavy, so be careful when handling it.
･ �Be careful not to let the speaker fall from this product.
･ �Use a soft cloth soaked in neutral detergent to wipe the speaker if it becomes dirty. Do not use liquid solvents such 

as alcohol or thinner to clean this product.

･ �Do not climb onto or hang from the product. Take particular 
care if children are around. If this is not observed, the 
speaker may fall down or tip over and cause serious injury.

･ �After installing the speaker, periodically check the angle 
bracket and speaker bracket for any looseness, and tighten 
them if required as a safety measure. 

This section contains information that can help to prevent problems and damage to the 
unit, and also contains other useful information.

Warning

Caution

Tip

Caution

Warning

For your safety in using this productFor your safety in using this product

Cautions on useCautions on use



− 4 −

G
ER

M
A

N
FR

EN
C

H
ITA

LIA
N

SPA
N

ISH
EN

G
LISH

G
ER

M
A

N

InstallationInstallation
For details on the installation method, refer to the owner's manual which is included with the TD508MK3/
TD510MK2.
If using the TD508 II/TD510 (discontinued models), download the owner's manual from our website.

URL: http://www.eclipse-td.com/uk/
	 「Support」→「Brochures/Manuals Download」→「Manuals」→「CB1(for TD508 II・TD510)」




